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  أن ���� ا����� ا����	� �

 ا���
	� ا���دي 
�	� ور�� ا������  ��ر �
 �%$# "�	! ا ��

  ا�(	ـــــــــــــ)�ـــــــ�ء 
 ا�/-.-ع ا+ول 

�س �7�� ا6�5�ر 4-�3 2-�	� �1 ا�0-اء 	�  (2)  
���س ���� ا����ر ا���ت �� ا���اء ���
 ا���آ�
 ا������� �

  : ا����� 
��) ا����ط &�ت &�در �� "!�� ا���ت $�ا�#� "�!�و����� 

1M  2وM  را�) ا��*$*ب �+,-.$ ��#�/�"AY  وBY   .  

�+3 ا���ا�� �+.�!�و����� �+3 "�2ر  2xو  2�1x-د ا����1�� 

  . "#�$7 �+.6#�ة ا�.-ر�4 
�+3 /�ا�7 �� ا�#�ر ��-"� ــ �9�2 �+3 ر�.�� ا��*$*$��  1

�1!�ن ا�.�!�و����ن ��- ا���1ل  2 0x x= =  .  

�A#� ا���62�� . أ?6
 دور ا�.��4�� وا����< /�دده.� 
0,1:ه�  BYو  AYا�1��� �� ا�.-,+��  /ms div   )0,5 (           

��1- ا���1ل  1Mــ �CD�2 ب  2 0x �Gل  2M، و��2ك  =

، ��-"� ���L ا���.�ن ا��*$*$��ن �+�2M 3+.�!�و��ن  JK+�2x ا��-ول أ�H I+D�) ا���1ل . ا�.6#�ة ا�.-ر�4 

  : /�ا�7 �� ا�#�ر �+�M�M 3 را�) ا��*$*ب 
5  4  3  2  1   QR�.ا�( )n  

2ا���1ل   17  34  51  68  85 ( )x cm  

  
  (0,75). ا�#�HV "� ا��-ول أوH -4��G �.ل ا�.��4 �+.��4ت ا���/��  1ــ  2

  (0,75). أ?6
 H�.� ���� ا�.��4 ا���/�� �� ا���اء �� �Mوط ه*W ا����$�  2ــ  2

 16�) ا�@�0"�ء: ا�/-.-ع ا�< )6,25  
I  ت�)>@4 C	/D� �7ــ درا  

I���4 9X..و�� ا���!�Yا 
وا�.!�ن "� أر$Q  )1(ا��!9  �-��� ا���آ�
 \X!" 9آ �A� ���2�" ��] ت�DX!" ه� �+3 ا���ا��

1 2 3 4, , ,C C C C  ^�? �/��+� 9X"_" -��"10، وE V=  �"و"�&9 أو

 I�"و��"100R = Ω ووM �/9 /��2`�� ا�*ا"�A" �A�L  ���"و��و"
  .  rا�-ا,+�� 

$�� أن ��A ا�.!A���$ ،  \X.�ل ا���ا�- ا�.��� �&�K�Q ا�.!�DXتــ  1
 a��!.ا�
  : �+3 ا��!9 ا�����  /!�

3 41 2

1 2 3 4
eq

C CC C
C

C C C C
= +

+ +
�� ?��� ا��A.�ل "!�DXت  eqCوا����<  

 �A6ا� bD� 1"���$�� و��� 2 3 4C C C C C= = = = ( )0,5  

). ــ ذآ� $�����e "� ا��A.�ل ا���آ�
 �+3 ا���ازي وا���آ�
 �+3 ا���ا�� �+.!�DXت  2 )0,25  

II  E>@/ا� !�F �7ــ درا  

& �����g      �Dا��1$� ـ أ� �ح ا�-�V ض�Dا��6دسا�  ��ا���6 ا�-را�             ��j��
�Dم ا��+A08ـ  ��07 ا�    
  �gVg ����ت : ا���X�� $!���ر�� �+�م ��
��j��          ا�.-ة : ���$� إH+�) أ��D                             ا�.��6ى 

لمزيد من دروس و التمارين و الامتحانات ... موقع قلمي

www.9alami.com


2 

 

I���4 9X..ا� 
?100C�a��!� ^ ا���آ�
 ا��6$7  )2(ا��!���A�  9 ا���آ� µF= ،_� QR�.ر إ�3 ا���ا�� QG�H o4ر

)1 ( �L2+��0 ا�t = .  
ــ $�#�����H 7ن إ��R�� ا���/�ات أp�g ا�.�Aد�� ا��R�D+�� ا���  1

��� ا���/� �2�Cu  \X!.ا� �#$�" ��$ .( )0,5  

): ــ ?9 ه*W ا�.�Aد�� �!�
 �+3 ا��!9 ا�����  2 ) t
Cu t Ae Bα−= +  

).  αو  A���$B.�ل ا�.�Aد�� ا��R�D+�� ?-د ا��X$����  1ــ  2 )0,5  

ا�.�Aد�� ?9 واآ�
  A?-د ا�A���$ ��$�X.�ل ا���وط ا��-j��  2ــ  2

 ��jا���� ��+R�Dا�� .( )0,25  

)أآ�
 /�A�� e/��ات ا����2  3ــ  2 )q t  س��+�A  �"
 ��q-$t ا�

)M-ة ا����ر ا�!��$��A/  �j��وا����<  )i t  �"
"� ه� ا��Dق . $-��q ا�

 �" 9!� ��+X..ا� ���ا�.��2 ��$( )q t  و( )i t  .( )0,5  

III  ��	F-1 ا�� G��  ــ �(��H ا�/@<E ا�/@
و���A� e/��ات  )3(ا��!9  )2(ا�.�QR �_رQG�H o4 ا����ر �� 

)ا���/�  )cu t  �����.9�2 �+3 ا���) ا��� ، \X!.ا� �#$�" ��$

 I+D9 أ�X..4(ا��!9 . ا�(  

)"V+A �4ا$s . ــ ?-د �G��L� �Aم ا�*$*$�ت  3 )0,25  

). ــ ?-د I�M ا�-ور �+*$*$�ت  4 )0,25  

�� �+-ور ا��Kص �+-ارة ، وــ $�����ر أن I�M ا�-ور �+*$*$�ت "�6 5

0,1L: $�� أن "�A"9 ا��M�+� u��2��A ه�  H=   ( )0,25  

  
  
  
  
  
  
  
  
  
  
  
IV  J�� 1K��L �7ــ دراRLC  ي�M� م��
 �! ا�D)ء . ��O ا��-ا�6 1� 1Q�M4 ء(Dه#ا ا�I  وII  و
III   

 
#�0,5L"� وM���AB  ��`��2/ 9"�A" �A!�ن �j��g ا� H=  �+.�" ��+,و"��� ا�-ا��و"!I�A� \X و"

2C µF=   

 I�"و��10Rو"�&9 أو"� " = Ω  . 
#�)/�/�ا 4����  $ 7�#�AB�� �j��g �#$�" ا� ) 50 2 cos(2 )u t Ntπ ϕ= + 

 Wدد�/N  ��L2+ا� I/-M �j�$ر آ����/ I�� �.�� ، v�`+� 9$�H( ) 2 cos(2 )i t I Ntπ=  .  

)ــ �� ?��� أن ا���/�  1 )u t   3 /�ا�7 �� ا�#�ر+�( )i t   

). 0Nأ?6
 ا���دد  1ــ  1 )0,25  

)أ��A/ v��  2ــ  1 )i t  ���AD2-دا ا��-ة ا�"I  ر ا�.�ر �� ا�-ارة���+� .( )0,5  
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ا��ADل  ا���/�  CU$�� "�$#� ا��M��A و ا��ADل ا���/�  LUأو�A/ -4�� ) $-ون $�ه�� ( $���A.�ل إ���ء ����9  3ــ  1

��$  \X!.ذا /���6< . "�$#� ا��" .( )0,5  

 �Q+-ارة وا����< ��ض ا�.�#�� ا�..�رة $-Q  ��qأ?6
 "�A"9 ا���دة  4ــ  1

6
 H�I�. ?وا 0Nو ( )0,5  

: ــ $�� أن ".���A ا�-ارة /!�
 �+3 ا��!9 ا�����  2
2

2 0

0

1
NN

Z R Q
N N

 
= + − 

   
) minZا����<  ا�..���A ا�-����  )0,75  

��  Z  ��q-$Nا�.�3�2 ا�..e�� 9X��ات أ�I+D ــ �A#� ا�.���ن ا�����  3
1R: ا����2��  = Ω  10وR= Ω  ���? 9و?-د �� آ ���ا�.��2 �7 �+3 ه*�+�

). ، ا��.� /!�ن ��I ا�-ارة ا����j�� ا�.��ل ا�*ي /��6�
 ��I ا�-ارة  )0,5  

 S��)ا�/	@�6	T : ا�/-.-ع ا�< )5,25  
��م �+.�ء ا�V, ، s+Dل ر?V/�) ا�j�`D�� ���y$ز /��رب ,�رج ا�Veف ا���ي �

"� أ94 ا��zآ- "� &uA$ �2 ا�����Lت ا�A+.�� وا��2^ �� /#���ه� 
  . A��q.���� �� �-ة "��qت 

 �AMع?�ل ا1رض "��L.� �� ?�آ� داM  ���jدا,9 "�آ�� �`�j�� آ�+��� 
42200r "-اره� km=  ��+A�� �."رضV� �
M���" ���Hم ���7 "� ،  7�آ

  : ا�A+.�ء $���yز ا����$� ا������ 
 p��X/ (/ ��j�`Dدا,9 ا�.�آ�� ا� �#����$O v�,  I��G0, 4m=ℓ  I�+وآ�

64.� ��#��  �+I��G �� 7 ا��H�2$9 اq"�-اد  �"�.+� و[�( )S  I�+آ�

0,6m kg= . ���.�.وران ا�-+� �+$�H ون ا?�!�ك-$ p$�g ل "�2ر�?( )∆ 

 ��"�*$*$� �
م .  �O.� "� ا���#� أ� ��!�!���9�2 �+3 "�.��� "��

)��Hره� $�����6 �+.�2ر  2Jه�  ∆( m∆ = ℓ  .  

A" : 6380R#��ت  km=  ع ا1رض�AM .2
0 9,81 /g m s=  ا1رض o#� 3+� ����Xة "��ل ا�-M .  

�g116,67$�� ا����ذب ا�!���  10 ( )G SI−= 245,98آ�+� ا1رض  × 10terreM kg= : ا�-ور ا��Kص �|رض .  ×

86164T s=   

 ���? ��θ  *,z� أن �ة 4-ا �.!��e&sinθ θ≈  و
2

1 cos
2

θθ− =  

I  ل�D4 ة�F ����� ــ���Q>ا�g  �	K�Y)ا� �
  . �1 �4ار ا�/�آ

1  ��j�`Dف ا1رض �+3 ا�.�آ�� ا��G �" ��). ــ أ��A/ v�� M-ة ا���ة ا�.#� )0,25  

ا���ة ا�.#��� "� �Gف ا1رض �+3 ا�.�آ�� "�6و�� ��-ة ــ $�����ر أن M-ة  2

$�� أن ،  وزن ا�.�آ�� 
2

0

R
g g

r
 =  
 

����"��ل  g$2�^ أن  Xا�  �� �Rا1ر

 ��j�`Dا�.�آ�� ا� ���ا��� /�4- � �#�). ا�� )0,5  

II ــ  �	K�Y)ا� �
  درا�Z �7آ� ا�/D/-�� دا$
 ا�/�آ
  ��j�`Dآ�� ا��.��$ v�/�" (+A" �� �$*$*�.م $-را�� ?�آ� ا�.�.��� ا����

 ��+���] W���A� وا�*ي.  
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�o ا�.�.��� �� "�QR /�از��� $
او�� �mθ  ه�*,z� �L2� �� ��j-$ ���� �2ره� $-ون� (g 
�� ا�.�32 ا�.�4

  ) أ��L ا��!Q ) 9 ا�vK ا��أ�� "ا��� /!����  θق $��
او�� �.A+) �� آQR�" �L2� 9 ا��6. أ&V �+��ار�{ 
 ا��را�7 ا�����@	� ــ  1
)أو4- ا�.�Aد�� ا��R�D+�� ��2آ� ا�.�.��� ا�.�*$*$�  ا��HVA ا���1�� �s��2�+ ، $�#��7  1 ــ 1 )0,75  

). أ����H J� vن /�اpH ا�*$*$�ت ا��e��ة ���اس 6$�] v�� K".-  2ــ  1 )0,25  

��V? 9 ���  3ــ  1/ ��): �� ?��� ا�*$*$�ت ا��e��ة ، ا�.�Aد�� ا��R�D+�� ا�$�6 )
0

2
cosmt t

T

πθ θ ϕ
 

= + ′ 
  .  

 ���A/ -40أوT ′  ��q-$ ص �+.�*$*ب�K0ا�-ور ا�T  ا1رض o#� 3+� �$*$*�.دور ا�*$*$�ت �� ?��� و�4د ا�.�.��� ا�

 ��q-$ ص �+.�*$*ب�Kا�-ور ا� ��e�� \�وا����< آr  . ص و�Kا�-ور ا� �.�H 
0Tأ?6 ′  .( )1  

�/�v $��.�آ�� ا�j�`D�� ��] �.+A"�+�� 2&�o أم q ؟ �+9 .ه9 ا���qاض ا�*ي ا������ "� ,I�V أن ا�.A+) ا� 4ــ  1

 s$�4ا .( )0,25  

  ا��را�7 ا����	� ــ  2
�+.�.��� ا�.�*$*$� $-mE  ��qأو�A/ -4�� ا�#��H ا�.�!���!��  1 ــ  2

, , , ,g mθ θɺ ℓ  �L2+او�� �+.�*$*ب �� ا�
   tا����6 ا�

 *,z�0ppE =  -��0θ =  �����Xا� QRا�� �H�#� ��A4�" ���2آ .( )0,75  

e/ppE��ات �H�G ا��A�2  QR#� ا�.���ن ا�..9X �� ا��!9   2 ــ 2
  

  ) (���+.�*$*ب ) 2Dا�.�6��) mE )وا�#��H ا�.�!���!�� 1D  (ا�.�6

)�+�6) ا���#�  ��q-$z ا�6�1ب  )S  .  

�+.�.��� ا�.�*$*$� $�����6 �|��6ب  ا����6 ا�
او��أو4-  أ ــ 

0,5z cm= ( )0,75  

)ا����< ا�.�Aد�� ا�
"���  2ــ  2 )tθ �$*$*�.ا� ���.�.+�. ( )0,75  

  ا�@	ـــــــــــــــــ/	�ء 
)ا�/-.-ع ا+ول  )2,5  

)&D��2 ا��&�ص ���
 �.�دا $���A.�ل آ�z�� ، ���2ي ا1ول �+3  )Pb s ات���� �j�" 2+�ل" �� ��j
"e.�رة 4

)ا��&�ص  )( )2
3( ) 2Pb aq NO aq+ −+  W
1/�آ� 0,1 /C mol= ℓ  �`� s+� �" ن�!" ���Xوا�( )Ag s �� ��j
"e.�ر 4

 �`D2+�ل ����ات ا�"( )( )3( )Ag aq NO aq+ −+ W
2/�آ�
2 5,0.10 /C mol−= ℓ  . ة�#�H �#$�ا� ��9 ا�.2+��&��

  . أ����� ����ات ا���/����م 
 �`Dا� s+� ه� 

 ا�.�4#�?�) آ9 "� . ���� ا���D#.�� ��- /�آ��I $�� "�$#� ه*ا ا�A.�د إ�3 أن ا�

1ا�.2+���� ه�  2 200V V m= = ℓ  .  

H �#A�286,8.10K��g �.$�� ا���ازن �+�9��D ا��2&9 دا,9 ا�A.�د ه�  =  

وا����< ا�.�Aد�� ا��2�9��D�� �+ ا1آ6-ة . ــ أآ�
 ���A" �Dد�� ا��9��D ا�*ي �2-ث �+3 "��6ى آ9 إ�!��ود  1


ال �,qوا .( )0,5  

2  9��Dرج ا���, 
r,ا��-�j ــ أ?6 iQ  د�.A+� �j��). ، g) أو4- "�32 ا��#�ر ا��+ )0,5  

��1,0h  -���100Iآ
 $�� "�$#� ه*ا ا�A.�د "�&V أو"�� و���M b-ة ا����ر ا�*ي �.� ��V, Iل  ــ  3 mA= .  

). أ?6
 آ.�� ا�!��$�ء ا��� �.�ره� ه*ا ا�A.�د ��� ا�.�&9 ا1و"� ,Vل ه*W ا�.-ة  1ــ  3  )0,25  

). ���� "� ا�e�Mqل  ,Vل?-د /�اآ�
 ا��1اع ا�!�.��j��  2ــ  3 )0,75  
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 ا�.s+��6 ؟ /e�� "�  3ــ  3+Dآ�+� ا� ��e/ �"ا�.�!��� ؟ و 
+Dآ�+� ا�( )0,5  

 �#A� :( ) 107,9 /M Ag g mol=  و( ) 207, 2 /M Pb g mol=  4و 19,65.10 .F C mol−=  .  

 16�)ا�/-.-ع ا�< )4,25  
��-ر�� ��M6	� . ��� ا^3�ص @"2006   

�+� 9�2�u.? 9��D�$ I اQ" s����X�Y آ�2ل أ"�+� . ��Aف إ���gات ا�����9 أو �#� ا�4Yص $��) ا�1���ت ا1"�9 
 z����$ ���] ، b�G�#ا�� �" �.�-H ص ه*ا ا�!�2لVKا�.���رة ه� .  ��) ا�� \�� ���e�& :  

  
  
  
I  �����  ــ ا��را�7 ا�
1  ���
). ــ أ�v ا�) ا�.�.��� ا�..�
ة ا�.��4دة �� ه*W ا�� )0,25  

   Bو  ��A�9 ا�#" �HV� ��D�"+�� �ــ �.!� ا���2ل �+3 إ����Xات ا� 2
  ؟  B"� ه� ا�.�.��� ا�..�
ة ا��� ���2ي �+��� ا�.�u.? . 9��D آ�$�آ6�A  �+ا�.�9��D  1ــ  2

). أآ�
 &�I�e ��\ ا�.���رة  )0,5  

"Q /2-�- أ�.�ء ا���ا/< وا�.�V��Dت . أآ�
 ا�.�Aد�� ا�!�.��j�� �9��D�+ �+��2ل �+���X�Y 3ات ا�����9  2ــ  2

6
 ا��6.�� ا���.�� ?( )0,5  

II  �	
��D�ــ ا��را�7 ا�  
 �L2+��0- ا�t 
ج  =.�0,50mol  9��D�.ا� �"A  0,50وmol  9��D�.ا� �"B  u.? �" �+�+H ��.آ \�`� (g ،

 s�����!ا� . ��$�g در�4 ?�ارة �� v�+K3 ا�+� C��2�25 C°  . ه� �+��Dا�� v�+K+� �+!83ا��2) ا�V ml=  .  
  .ا�����9 ا�.�!�ن ���X�Yات  nآ.�� ا�.�دة  2�5min-د ,Vل آ9 

  : ��9�2 �+3 ا��-ول ا����� 
55  50  45  40  35  30  25  20  15  10  5  0  (min)t  

0,33  0,33  0,33  0,325  0,32  0,31  0,295  0,275  0,25  0,21  0,14  0,00 ( )n mol  
  . أ��a ا��-ول ا��&9��D�+� �D "2-دا ��I ا����2 ا��-j�� وا����2 ا����#�� وا����2 ا����j�� ?��� ا���ازن  ــ  1

).  ���X�Yxات ا�����9 وا���-م  nا��HVA $�� آ.�� ا�.�دة  وا����< )0,5  

�45mint.�.��� ا�!�.��j�� ا�#�HV "� ــ درا�� ا 3 =   

45mint"� ا�) ا����2 ا��� /�4- �+��� ا�.�.��� ا$�-ءا "� ا�+�L2  1ــ  3 )؟ = )0,25  

?-د ، �� ه*W ا����2 /�آ��� ا�+K�v وا����<  2ــ  3

).  HK��g �.$�� ا���ازن  )0,5  

"� ا�!�2ل ،  0,10molــ ��- ا���ازن ، �`�\  4

). ?-د ا�.�32 ا�*ي ���#�ر ��I ا�.�.���  )0,5  

III 1K� ــ ا��را�7 ا���آ	� �0#ا ا���-ل ا�@	/	
 .  

)�.9X ا�.���ن أ�e/ I+D��ات  )n f t=  �"
  . $-��q ا�

). +�9��D ــ ��ف ا����6 ا��2.�� � 1 )0,25  

2  �L2+ا����6 ��- ا� W*ه �.�H 
ــ أ?6

20mint /ب ا��?-ة  = .minmol ℓ  .( )0,5  

3  ���R9 دون إ��Dا�� ���ا����2 ا��� ��) � ���A� ــ
�+I �� ور�H /���2ك ( ?.u ا�!�����bD� 3+� ، s ا�.���ن � �!.� ( W*ه �� I�+� 9�2.9 ا�.�3�2 ا�!M (أر�

 ���.�.+� ��j�2 ا����2 ا����R�" ���2ا� .( )0,5  

  وا` و�1 ا��-�	�                                                                                                                


